XVGeeo

A DANGER/

A

www.schneider-electric.com

HAZARD OF ELECTRIC SHOCK, EXPLOSION OR
ARC FLASH

Disconnect all power before servicing equipment.

Failure to follow these instructions will result
in death or serious injury.

FERT. BESRIINEER
AR EAFET A RIRIERE.
AR R e S SEEM ARG,

T, BRI - BEORER
BT - #EH RIS T BIRZ T o THSITE 2 TLEEL,

CORTOMIZ. RCEFLRBESELGEEZRS THEM
HEEEThS RETY,

A\ CAUTION/

NN ii%

Pay particular attention when tilting the product
90 degrees for transportation so as not to trap
your fingers. (XVG ee M)

PRI NI AR R 90 BERTRIARSM MDY,
KRB FiE. XVGeoM)

ERESE, HRmEI0° EITHLEE
FEPRET VLD +EBLTIEEL,
(XVG ee M)

Electrical equipment should be installed, operated, serviced, and maintained only by qualified personnel.
Do not disassemble or modify this product. Disassembly or modification of this product may result in malfunction or failure.
No responsibility is assumed by Schneider Electric for any consequences arising out of the use of this material.

B A 2R BE. BN TR T &% A R#UT.
T PRE DR R AT R, A A e S B0
KPR A BRI [ R MATATE R, Schneider Electric #EA713 .

LRT (BESHER) OEUTT - £ - BE - XU T H U RERIFBEEREITE>TLREEL,
HRRBIEDBTCERWVEEL GO TWVWET, EELGOHR,. SEIFHMEDREREZV LT,
AHEDRRFERICK Y E CTAERICDWLT, H1t (Schneider Electric) & ZDEFEEZBVEH A,

XVGB ee

XVGB ee H

XVGB oo T

XVGB oo M

XVGB ee W

|A] DIMENSIONS | R [ sMEsHEE

XVGB ee
XVGB oS

XVGB ee T
XVGB o ST

60

XVGB ee H XVGB e W
XVGB e SH XVGB ¢ SW
60

XVGB ee M
XVGB e SM

360

1
0.63

g2 [ =
(20.79) §°
N
() 22
@90 (mim)
Wire Length [ £i(K)% [ BlEH LR & (23.54) in
Part number [ #1-5 | B
XVG... mm in
Bee 560 22.0
BeeT 560 22.0
Bee H 550 21.7
Bee M 500 19.7
Bee W 800 31.5
Wire Type [ G426 [ 4278
c.s.a.: 1x0.33mm’ / AWG22
o
S1A84677-03 1/8 Schneider

@

1-2012

ﬁEIectric

Printed in INDONESIA



XVGeeo

www.schneider-electric.com

XVGB ee
XVGB ¢S

Required washer x2
M8 washer

Required nut x2
M8 Hexagon nut

BJINSTALLATION | 2255 | Eftsik

M3
0,6...0,8 Nm /(5,3...7,0 Ib.in)
M20
5..6 Nm/@4...53 Ib.in)

Scale 1/2

XVGB oo T
XVGB e ST

(0.08...0.24)

N
<ff N
N N
S s b \
- | 8|8 ]
{g o N S
A M20
B ;Q\ N 5...6 Nm/(44...53 Ib.in) AN }
35 2 x @9 @20
1.38) (2x@0.35) @0.79)
Required screw x2 mm mm
M8x(thickness+10mm Cin) Cin)
M8x(thickness+0.39in) n. n.
XVGB ee M :r XVGB ee M
XVGB e SM Required screw x 4 1 XVGB ¢ SM
M5x(thickness+10mm) Scale 1/2 o73 1
(22.87)
Ry
N
\ 4-06
. [(4-00.24)
e
Required nut x4 }
M5 Hexagon nut with flange
0,6...1 Nm /(5...9 Ib.in;
( ) % 5 mm
Cin.)
XVGB ee M
XVGB e SM XVGB e SH
Required screw x 4 Scale 1/2
M5x(thickness+10mm)
Mbx(thickness+0.39in) 950

Required nut x4
M5 Hexagon nut with flange

_>/'

.
:
.
.
i
1
:
1
.
,
1
.
1
.
:
H
.
1
1
:
1
.
,
1
.
.
.
:
H
.
i
1
.
H
.
,
.
v
| XVGB ee H
.
i
1
.
1
1
,
1
.
i
1
:
1
.
i
1
.
1
.
:
.
.
i
1
:
1
.
,
1
.
1
.
:
H
.
1
1
:
1
.
,
1

240
A~ (21.57)
< \
N | 305
< 4~ (3-00.20)
<8
IS
mm
(in.)
Required 4
Mbx(thickness+1omm) ~ Scale 1/2
Mbx(thickness+0.39in)
25 950
T
P ~
@54
/' \ / \s(@2.13)
\ / \ / 426
W
N
(@0.59) D
Required nut x4
M5 Hexagon nut with flange
0,6...1 Nm/ (5...9 Ib.in) mm
Cin.)

Required nut x 4
M5 Hexagon nut with flange

XVGB ee W
XVGB e SW

Scale 1/2

O

Required screw x 4
M5x(thickness+10mm)

Mb5x(thickness+0.39in)

Scale 1/2

254
)\ 22.13
/&
\ i
\ 4-00.24
i

7 %

2/8

Schpeider



XVGeeo

www.schneider-electric.com

Q INSTALLATION FOR OPTIONAL PARTS | T3EEi g2 | # 7 av&

RD :
GR:
OR:
YE
BU
GY

Red

Green

Orange

: Yellow

: Blue

: Gray

BK : Black

Vc : Rated Switching Voltage
Ic : Rated Switching Current

Explanation of Abbreviations [ 458515 Bf [ BREEDEHAA

XVMZ02wW i XVGZ02
i 55
1 217y ]
32 @ i
o N : S8 ‘|
=3 Scale 1/2 H TS
(22) 405 ' [ —
74 .~ (4-00.20) 1 L]
(2,97‘) ‘ .
[ . |
- e = e
[ RIS S H 024 ’
e L i © \é’/ ; - ©0.95)
' ]I5
—= NS M ! S FT
) i | T
: (7.38) ; .
oD
=l — % Required screw x 4 , °| 3
M4x(thickness+10mm) 1 = \
M4x(thickness+0.39in) '
mm : 290 mm
Cin) (05.54) Cin.)
D] WIRING | 4 | stterin ; ;
XVGB2. . XVGB3. . XVGB4.
XVGB2S. + XVGB3S. + XVGB4S.
1RD 1RD ' 1RD L
v ] ' v T a A ( v T :
2GR [ it —— | 2vE b , ! |_RD 2YE Do ;
MR I " 1D T Vo IPPNP Vo O2R g T T IPPNP !
Buzzer GY E ' : open-collector :: R 3GR i 1 opercolctor [ 3GR E v 1 open-collector I
} F\’1D O S Ve 2supply vottage 1} 02R iy Co : Ve 2supply voltage : \ G3R CORRRE I }Vc 2supply voltage }
o | 04 i) lzdmAl) T Buzzer GY b Ul 24mAlED) g 4BU Pl U 24mALED)
i GR Co o b 2%mABme) 1 | GR r—$-1‘ P o 250mABu) | | BU | - oo b 2B |
N [ R H ! oo
[ N I L Buzzer GY oo | |
© 4 ! 1 NPN PNP ! © i 0 0 1 INPN PNP 1t >=1 1 1 ' 1 INPN PNP |
| '_l_":_:--l: : \ | _ 4_:.__2_|\ | | ,_;__J_-___:__'L_lw |
i . e i AT T, |
TN @ TN @, | IR @
"= ™o & " | == o | =i ‘
BK | Tt =24y TN =24y TR =24y

ﬂ Operation of tube model with folding bracket (xVGB eeM) [ {7 1] #7735 S ZRIKIAT A J7 20 (xVGBee M) [
AR BN R—ILEF 24T DEESE (XVCBee M)

Part number Y
2 units 3 units 4 units
XVG... mm in mm | in mm | in
Bee M 4457 | 17.5 | 4857 | 191 |525.7 | 20.7
Y
B —— v =
;(VG 2450 | 3A4IE | AR
" | mm in mm | in mm | in
Bee M 4457 | 175 |485.7 | 191 | 5257 | 20.7

WE' © 2009 Schneider Electric. “All Rights Reserved.”

mm

(in.)

Schneider
aEIectric



XVGeeo

www.schneid

er-electric.com

Tower light @60

AT @60

[A] DIMENSIONS

[A] RoF

Part number X e — X — —
XVG 2 units 3 units 4 units XVG 2 T 3 I 4 HETT
mm in mm | in mm | in mm in mm | in mm | in
Bee 352.6 | 139 [392.6 | 155 |4326 | 17.0 Bee 352.6 | 13.9 | 3926 | 155 | 432.6 | 17.0
Bee T 3518 [ 138 [391.8 154 |431.8 | 17.0 Bee T 3518|138 | 391.8| 154 | 4318 | 17.0
Bee H 382.6 | 15.1 422.6 | 16.6 | 462.6 | 18.2 Bee H 382.6 | 15.1 422.6| 16.6 | 462.6 | 18.2
Bee M 435.7 | 171 | 475.7 | 18.7 |515.7 | 20.3 Bee M 435.7| 171 | 475.7| 18.7 | 515.7 | 20.3
Bee W 142.6 | 561 | 182.6 | 7.19 | 222.6| 8.76 Bee W 142.6| 561 | 1826| 7.19 | 222.6( 8.76
e
[B] INSTALLATION B] 2%
XVGBee : TUBE MOUNTING WITH "L" BRACKET XVGBee @ THTH, Al L R
XVGBee T : DIRECT TUBE MOUNTING XVGBee T 1 BLHELHLT 4
XVGBee H : TUBE MOUNTING WITH FIXING PLATE XVGBee H 1 AT, [ EM
XVGBee M : TUBE MOUNTING WITH FOLDING BRACKET XVGBee M : LHEAT AT, A T2 L 2L
XVGBee W : BASE MOUNTING XVGBee W : ZAEAN
Mount securely to a solid surface with minimal vibration. L2 B [ 5 (RO, S R M sk /D R 3
Mount the product as shown in order to maintain IP rating. TR D GNEFR) , LURE IPER.
@ Flat washer @ Waterproof rubber seal @ Direction for buzzer @ Flange nut @ FERE @ B 7K R e @ LIS B ] @ VLR RE
(2) Serrated washer (%) Cable outlet (&) Waterproof rubber seal (8) Direction for switch @ wmiswmE @ s ® Bikigm FF 1)
@ XVGBee : Requires ground connection. @ XVGBee : HFERIMES,
Recommended wire min : 1 x 0.33 mm (AWG16) WS4 R/ 1 x0.33 mm (AWG16
max: 1 x 1.5 mm (AWG22) e T x 45 mm (,L(\WGZZ))
XVGBes : Add wire protecting tube, @y: 6mm / 0.24 in and grommet. XVGB ee - JRHIFOLERE 44 + Omin : 6 mm » A2
INSTALLATION FOR OPTIONAL PARTS EIpsin s
Wall mounting bracket ~ : XYMZ02W R g S 1 XVMZ02W
Folding mounting bracket : XVGZ02 (for XVGB eeH) RN XVGZ02 (BT XVGBeeH T )
[D] WIRING [D] ¥4
NPN PNP open collector NPN, PNP Ff£2
XVGBeee : Vc:supply voltage , Ic : 45mA (LED), Ic: 350mA (Buzzer) XVGBeee : Vc: HEJEE , Ic: 45mA(LED), lc: 350mA( 41525 )
@ “ON” for lighting and/or applying Continuous sound. @ “ON"FRSECHl/ S E AL A S,
+ Turn off power supply when installing and wiring. o TERREERNfELE A 5 PR R I,
+ Fuse is not supplied with product and must be provided by customer. . JARTSRRRERE h—RCIRM, AR IR,
- Use UL Recognized fuses and fuseholders when required. - PERHEE IEC60127 FAKTESFIAKTISREE,
- Voltage fluctuation should be no more than 10%. o EHEEIREHES 10 %
- Do not use with a power supply which exceeds the surge voltage . ETEy NN - s 225 i [
(1kV 1.2/ 50 microseconds) and noise voltage (2kV 5/ 50 ns). %Z%éi’éfii?ﬁ)&jggfg}ééz /50 #) FORER
+ Insulate the ends of unused wires. ) R °
IE‘ « KMERNS LRGBS,
Operation of tube model with
f i P T A NS
folding bracket (XVGB ee M) IE' TS SCERIIT A 720 (XVGB es M)
Can be tilted 90 degrees for transportation by sliding the switch on the folding bracket. TAHTE S LHTTRBITTIR 90 fE, (H T2k,
LArPene Y v
-Hold the product and slide the release switch. fﬁn#iﬁ;‘%ryj%*hﬁ(ﬂj‘°
-Tilt the product slowly. AR o
-Ensure that the switch returns to its original position. Q7SS EIE) N
@ switch @ x
-To prevent damage after installation, this product should be secured and protected N T G B S E S I R AN BB
during transportation. LA LR AT i (IS L R, SR — 58 PR ORI 5 A7 it (R 0
[F] SPECIFICATIONS [F] Hikg
Supply Voltage . Current consumption - $ETIT - E AR
Part number g ge | units| Buzzer (mA) LED EEesy HLE ALERRS | T | ey (mA) LED
2 68 2 68
XVGBe e e 3 NO 109 ° XVGBe e e 3 xT 109 )
4 135 4 135
24V AC/DC | 21.6~26.4V 24V AC/DC | 21.6~26.4V
2 YES 140 2 5 140
XVGBe S e 3 180 ® XVGBe Se 3 180 °
4 | 85dB 207 4 | 85dB 207
Storage temperature : -35....+70°C /-31.... 158 °F [y eai=yi%s :-35.... +70°C /-31.... 158 °F
Operating temperature range : -10 ... +50°C /14 .... 122°F TAEREVOE :-10..450°C/ 14...122 °F
Operating humidity range : 35....85% RH (no condensation) TAFIBETOE  :35..85 % RH (FEaEE)
Operable atomosphere : No corrosive gas TEHEE B - AL EaN
Degree of protection ! XVGBee / XVGBeoT P23 iRzt ! XVGBee / XVGBee T P23
XVGBeeW / XVGBee H IP53 XVGBeeW / XVGBee H IP53
XVGBe SH/ XVGBeSW : P42 XVGBe SH/ XVGBeSW : P42
XVGBee M . P40 XVGBee M ©IP40

4/8

Sc

hneider
ﬁEIectric



XVGeeo

A DANGER/

YA

www.schneider-electric.com

HAZARD OF ELECTRIC SHOCK, EXPLOSION OR
ARC FLASH

Disconnect all power before servicing equipment.

Failure to follow these instructions will result
in death or serious injury.

FERL. JIESRIAKEER
YIS B ATIFET T FT A IR
TMER LR RS S ER ARG T.

T, BRI - BEORER
BT - #EH RIS T BIRZ T o THSITE 2 TLEEL,

CHORTOMIZ. RCEFLRBESEEEEZRS ThEH
HHEEThS1 RETY,

A\ CAUTION/

NN iiﬁ

Pay particular attention when tilting the product
90 degrees for transportation so as not to trap
your fingers. (XVG oo M)

it 2 PR 90 E RS RIAgIM D,
Ll REIFE. (XVGeoM)

ERESE, SRR E0 EITHEE
EEBETVLD TERLTIITEL,
(XVG ee M)

Electrical equipment should be installed, operated, serviced, and maintained only by qualified personnel.
Do not disassemble or modify this product. Disassembly or modification of this product may result in malfunction or failure.
No responsibility is assumed by Schneider Electric for any consequences arising out of the use of this material.

RS RE TR, BE. BEMEY THEMNRT S ARPIT.
THZ PR AT 7 AT RE S B R A B
XHT 8 A BRI R IKERTE R, Schneider Electric IR

LBEE (B ORI - 8 - BE - XU T F U REEIIBEBRENMTE 2 TLREL,
HRRBIEDBTCERWVEEL GO TWVWET, EELGOHR. SCEIFHEDRREEVET,
AHOBRFRICKVECTHERICDOWNT, HEt (Schneider Electric ) 1 &ZDEEEEWVE LA,

XVGB ee XVGB ee H

XVGB ee T XVGB ee M

XVGB ee W

|A| DIMENSIONS | R~f [ sM@<HizE

XVGB e
XVGB oS

360

XVGB oo T
XVGB o ST

60

XVGB ee H XVGB oo W
XVGB e SH XVGB e SW
260

XVGB ee M
XVGB e SM

60

@20 .
(@0.79) o°
&=

() =5

20 mm
Wire Length [ 25 K/t | 515 H LBES (93.54) "
Part number [ #1-5 | B
XVG... mm in
Bee 560 22.0
Bee T 560 22.0
Bee H 550 21.7
Bee M 500 19.7
Bee W 800 31.5
Wire Type [ G424 | 435&
c.s.a.: 1x0.33mm* / AWG22
o
5/8 Schneider

&Electric

Printed in INDONESIA



XVGeeo

www.schneider-electric.com

BJINSTALLATION | 2255 | mftsik

M3
XVGB ee 0,6...0,8 Nm /(5,3...7,0 Ib.in)
XVGB oS M20
40 5...6 Nm/@4...53 Ib.in)
Required washer x2 (1.57),

M8 washer

Required nut x2 !
M8 Hexagon nut

Scale 1/2

XVGB oo T
XVGB o ST

XVGB oo W
XVGB o SW

(0.08...0.24)

Scale 1/2
R ™ 240
K N\ o 07.57)

Required nut x4
M5 Hexagon nut with flange

@

Required nut x 4
M5 Hexagon nut with flange

0,6..1Nm/(5..91b.in)

S \

— N\ N | 3@5
0!8 1 N < W
D i

S N ©|s .

= QY o> HS N =

o &N NS o
N S Y
o {E N M20 <
P e Q\T 5..6 Nm /(44...53 Ib.in) @
35 2 x @9 @20
1.38) (2 x@0.35) @0.79)
'\R/’I%qutilz_edkscrewrg mm mm mm
X(thickness+10mm i . .
M8x(thickness+0.39in) Cin.) Cin.) Cin.)
_______________________________________________________________________ U
XVGB ee M ! XVGB ee M
XVGB o SM Required screw x 4 | XVGB e SM
M5x(thickness+10mm) Scale 1/2 o73 ' Required screw x 4
(©2.87) ' M5x(thickness+10mm Scale 1/2
N 4 , Msx(thickness+0.391) . P
- h I g
N ! e
H
\ ! @54
\ 4-06 | / \ / \a"(32.13)
. Aa0024) / . . ¢
™ : : SV
DA : v
/ E \ / \ / 4-06
/ ' @i @/(4-@0.24)
/ h
/ : 4 - R //,/ N
- | @ &%
Required nut x4 1
M5 Hexagon nut with flange ' Required nut x4 o
0,6...1 Nm/(5...9 Ib.in) @ ' M5 Hexagon nut with flange
mm | 0,6..1Nm/ (5...9 Ib.in) mm
Cin.) ! Cin.)
XVGB ee M | XVGB ee H
XVGB e SM 1 XVGB e SH
Required screw x 4 Scale 1/2 E y\'}g%ﬂi‘iﬁgfswoﬁnm)
M5x(thickness+10mm) ! M5x(thickness+0.39in)
M5x(thickness+0.39in) !
, Scale 1/2 o
' e 2.13
, / \“\
i / \ 4-6
h / . /@002%)
: o
H ‘.
\ : /
h
(20.59) @ ' -
h e
N , @059 b
T~ 1
,
h
h
h

iz

6/8

Schpeider



XVGeeo

www.schneider-electric.com

|C|INSTALLATION FOR OPTIONAL PARTS | A[SEE (2 | AFvav@

XVMZ02W ' XVGZ02
, 55
1 (2.17)
32 A 5 d \ _ )
= N : )0 o3
=8 Scale 1/2 ' 2
(22) : 4-25 E =d @)ﬁl [ gy
2 ! o0z ° o jT
(2.97) ' ,
} } } } : 78.6 7
Lo I , o2 (3.09) -
| | '
8 S | : R (©0.95)
N\ N’ﬁ : N ’7—‘
[ 4 i i o
CE Fe 35 ! -
(1.38) ! .
= o % Required screw x 4 , ; §
M4x(thickness+10mm) 1 b
M4 x(thickness+0.39in) '
mm E L o0 | mm
) : (23.54) Cin.)
D] WIRING [ 4% | stk : :
XVGB2. . XVGB3. . XVGB4.
XVGB2S. + XVGB3S. + XVGB4S.
1RD 1RD ' 1RD L
v i ' v T a T ( v :
2GR [J b e—— | 2YE b ' _RD 2YE Do ;
O-- o o | PPN g F\’1D >oTTTTT H L1 NPNPNP L 02R v T TR !
!/T\ Buzzer GY| _ E E | :/pen)—coHelctor‘ ‘E h 3R | E i : S/Pen;co\lelctorl : E 3 36R | E E :g/pel-co\le‘ctorl :
RD r_LI 1 b 1 Ve Zsupply voltage \: OR 0 ] P © Zsupply voltage | | GR : ! P ¢ Zsupply voltage |
> | oo Do 24mAlED) v T3 Buzzer GY P ko 2dmAlED) e 4BU P o 24mALED)
; GR cob o o 200mABuze) 1t | GR f_L": ol o 2%mABae) | 1 | BU | - - Cob o 2%mABue)
A " o , ' oo
[ 0o N [0 | P Buzzer GY oo | |
1 ! 1 INPN PNP It © b0 0 INPN PNP 1 >1 1 1 ! L INPN PNP
| it :i hstmesl 8 |ty |
I @ I @ IR @
| = " | ' o | =T |
BK | Tt~ =2av IS e e T LA | Bk | IO ~i=2av
iFuse(Rated current:0.5A) : i Fuse(Rated current:0.5A) : i Fuse(Rated current:0.5A)
Explanation of Abbreviations [ 458& 1515 BF | BREEDHA
RD : Red
GR: Green
OR: Orange
YE : Yellow
BU : Blue
GY : Gray
BK : Black
Vc : Rated Switching Voltage
Ic : Rated Switching Current
E, Operation of tube model with folding bracket (xvGB eeM) [ 27 A 472 S ZEF KT 44 H] /730 (xVGBee M) [
AKX BEEN R—ILET 2T DREAE (XVGBeo M)
Part number 3 3 Y 2
units units units
XVG... mm in mm | in mm | in
BeeM 4457 [ 17.5 [485.7 [ 191 |525.7 [ 20.7
5] =] Y
e [ZAE | 3hE | atiE
[ mm in mm | in mm | in
Bee M 445.7 | 17.5 |485.7 | 19.1 | 525.7 | 20.7
mm
(in.)

=)
WE © 2009 Schneider Electric. “All Rights Reserved.”

Schneider
3Electric




XVGeeo

www.schneider-electric.com

BRI 960
SR

X
x%/ié 28 3B 48

mm in mm | in mm | in
Bee 3526 | 13.9 [3926 | 155 |4326 | 17.0
BeeT 351.8 | 13.8 | 391.8 | 154 [431.8 [ 17.0
BeeH 382.6 | 15.1 | 422.6 | 16.6 |462.6 | 18.2
Bee M 435.7 | 17.1 | 475.7 | 18.7 | 515.7 | 20.3
Bee W 1426 | 561 |182.6 | 7.19 | 2226 | 8.76

Bt 3%

XVGBee : L&At R—LERHFTRAT

XVGBee T : —LERfH 24T

XVGBee H : A& (T R—LERIH 24T

XVGBee M : A AR K—LEFIT5AT

XVGBee W : EffIT54T

Bt RBODEN+AERED HHTESEEERA TS,

IPHEEHIET 27, WRIEROEY ., RYFFTLESD,

(OF: ® Wk —+ ® sy—momue D505+ v
@ nEe @ sltLa—kR () Mike—+ ZAYFHE

(©) XVGBes : F—RIEMEF T,

HEAZEH min: 1x0.33 mm (AWG16)
max: 1 x 1.5 mm (AWG22)

XVGBee : J—RHRREDT-. Fa—7T (HEEY A XO6LUL) E5 DAY MR T TS,

AT av g
BF1+T S vk - XVYMZ02W
TARRXT Sk : XVGZ02 (XVGBeeH E )

[D] #4875

NPN,PNP #—7>aL 44
XVGBese : Vc:ERERE, Ic:45mA(LED), Ic:350mA( JH—)

@ sk}, TH—EHERBEE HEE "ON”

B BEAREF (R EIRE Y o T,

Ea—X R BEINTVERA. BEHRTERBLTVIBESHYET,

SCEXR—F U ELTHERT B15A (&, Ea—XEHTIECE0127RE RICEIHERALIEEL,
EHERI0%EBRILIEEEHOHBLVERTHEALENTIZEL,

H—UBE 1KV 1.2/50 4s/ARXEE 2kV 5/50ns% B %5 & 5HER TIHERALLEN TS,
ERALGWN —RIRO i &, BT HEET—T F THRBLIEEL TGS,

[E] It G EEf R— LB 2A T DERIES i (XVGBeo M)
Bk E ., BESH DA VFERLIADZEIZEY, Q0BT EMNTEETT .

CHFERFEL. RIVFERLRAATIZEN,
B REPOYLEF TSN,
RAVFHTDMBICR>I-FEHERL TSI,

@ RAYF

MBELV. AURROBIE - FXERET S0
RIS R OE RS ARROEE - REZHELFT

X | BEEE | BERE | B J¥— | HBET(mA)| LED

2 68

XVGBe e o 3 3 109 °
4 135

24V AC/DC | 21.6~26.4V

2 140

XVGBe Se 3| A 180 °
4 | 85dB 207

RERE : -35....+70°C /-31.... 158 °F

ERABEEE : -10...+50°C /14 ... 122 °F

FERARMEE : 35..85%RH (EENRNIL)

EARES : BRUAROLZNIE

REEHHE © XVGBee / XVGBeeT  : P23
XVGBeeW/ XVGBee H : P53
XVGBe SH/ XVGBeSW : P42
XVGBee M . IP40

8/8

Schneider





